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D ANEeg 2HXA
FEE L
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2 957,993 936,464
Xgolg 2N 725,150 697,890
o yEE ¢ 725,150 697,890
oldEs g 130,200 145,200
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Ocds2an 105,600,000 105,600
O2| 3| OFLY =4 X} &2t 56,000& x125% 7,000
O 17,600,000& 17,600
oldEs XN& 594,950 552,690
201 LEt2 Y| 90,440 79,440
01 AFR2t2l bl 82,640 71,640
O3l s M 65,000& 505 *83] 26,000
Ood&sXas AFXH & 100,000& *303] 3,000
OS3AAMNIA JIEHIS 500,000& x12& 6,000
ozilesg 258 #¢ 500, 000& =83l 4,000
O3 AMNPA ZeiyH A28 2¢
375,000& = 12& 4,500
OXNE s n=d| 1,000,000 x6H *23| 12,000
Oy HEILIZE &Y% 150,000& *1H x12& 1,800
Ofd3 &8 =Y 70,000& *3Y *23] 420
O9dses XN ADZEH| 500,000& x12& 6,000
OjrEA0d 29 55,000 1200 Abx12& 7,920
OoasHE 11,000,000 =14 11,000
03 SHALS H I 7,800 7,800
OANZ23 MsWtz =t 4,800,000& *13] 4,800
OAlZ2 3o & Edglo 3,000,000& x13] 3,000
202 (4] 37,160 37,160
01 2L Y] 17,160 17,160
Oy3esg RN 130,000& *7H x12& 10,920
Ofdz=2g Nhzd 130,000& x4 x12& 6,240
04 =Ml st Bl 20,000 20,000
Oo83es XNd L AlZE Bl
2,500,000& x8H 20,000
205 2| 3| d| 438,350 431,090
01 &&=l 92,400 92,400
OQd a8 AHH| 900,000& x7H x12& 75,600
SXESH| 200,000& »7H x12& 16,800
2 Ed3xg 134,700 134,700
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03 2| =LHOd b 35,840 35,840 0
Oodesssd 35,840,000& 35,840
04 2| & =2 04t 24,000 24,000 0
O 3,000,000& x7H 21,000
OZ2ANSSHH(XNMMZH WFHAH)
3,000,000 3,000
05528 2gdasS &l 49,650 49,650 0
O3 sdss&l 6,150,000& x7H 43,050
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1,100,000& «6Y 6,600
06 23 2FHRF=XY| 67,960 67,960 0
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- o & 2,570,000& x 1 «12& 30,840
— 29 1,230,000& x 15 »12& 14,760
—AUARG A EH 860,000 »2H x12& 20,640
—HArZ A SERIEY 860,000& x1H x2& 1,720
07 Sl A ML (BSAE, AMLE) 11,900 11,900 0
O4l - BB S 1,700,000 *x7H 11,900
08 o| & 22yl (212t EH) 5,600 0 5,600
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800,000 x7H *x13] 5,600
09 ¥ EAMNELE 2 7,000 6,000 1,000
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7,000,000& x13] 7,000
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06 QI2t0I =2 (4 Bl 4,000 0 4,000
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OHFAMNBLAL E4 ZO a2 S
5,000,000 5,000
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A 10,4303 »1H «50Al 2t * 12 6,258
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— | Xt==g 75,070 x 12 +10L 751
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—40 288 23,559,700& x12.5% 2,945
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01 At 22l 25,116 26,100
OMSIII2ZH (%) 220,000 x2E «12& 5,280
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8,000 «13F 7L «12& 8,736
OQRVEA=SE(5Y) 600,000& =12 7,200
OJIEt2ZHI (5Yd) 3,900,000& 3,900
02 2324l 41,430 46,242
ORER= 300& *2,0000H 600
osd & 500,000& »12& 6,000
Odot=ER= 37,500 128 450
O2sl HLAAE X2 595,000& =128 7,140
O%3s SHOIXAYH R 70,000& 123 840
OXsx BEga 700,000 =304 2,100
OXtS XHAl 400,000 »3CH 1,200
OostgdiEReg= 220,000 »23| 440
O&F=D| gtz ,000& »3CH =123 1,260
O =l 500,000& x63l 3,000
Oxgz ,000& »3CH =12 10,800
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000 *3CH~12& 3,600
O2s#A =&KXt 4,000,000 4,000
202 OHl 24,300 24,300
01 2K 0l tl 24,300 24,300
OHZAE(ZH) 1,500,000& 1,500
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ONEISAY HRFX(ZH
000 «1¥~12& 3,600
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203 YR =] 5,560 5,640
02 It S =AY 1,360 1,440
O&FA I HLRFAH| 113,300& =128 1,360
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ORN2E HRFAHI 4,200
— 1t 2Z(13Y) 250,000& 128 3,000
—N2AAL(5Y) 100,000& =123 1,200
405 THobF S| 12,500 26,300
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O=23loz X 2AX ¢ 6,500,000& 6,500
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